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Writing Linear Equations    Answers  
 

Section I.  Write an equation in slope-intercept AND standard form using the given 
information.  SUPER EASY 
 

1.   𝑚 =  5,        𝑏 = −1    2.   𝑚 =  
1

4
,        𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡 = 7 

  

  𝑦 = 5𝑥 − 1            5𝑥 − 𝑦 = 1                        𝑦 =
1

4
𝑥 + 7          𝑥 − 4𝑦 = −28 

 

3.   𝑚 =  
−2

3
,        𝑦 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡 = 5   4.   𝑚 =  −

4

5
,        𝑏 =

3

5
 

 

 𝑦 =
−2

3
𝑥 + 5           2𝑥 + 3𝑦 = 15          𝑦 = −

4

5
𝑥 +

3

5
                4𝑥 + 5𝑦 = 3 

 
Section II.  Write an equation in slope-intercept AND standard form using the given 
information.  MEDIUM 
 
5.  𝑚 =  −4, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (9, −2)  6.    𝑚 =  2, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (0, −5) 
 
 𝑦 = −4𝑥 + 34           4𝑥 + 𝑦 = 34     𝑦 = 2𝑥 − 5              2𝑥 − 𝑦 = 5 
 
 
 
 

7.  𝑚 =  −
1

5
, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (−5, −1)  8.  𝑚 =  

3

2
, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (2, 2) 

 

𝑦 = −
1

5
𝑥 − 2           𝑥 + 5𝑦 = −10   𝑦 =

3

2
𝑥 − 1                  3𝑥 − 2𝑦 = 2 

 
 
 
 

9.  𝑚 =  −
1

4
, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (0, 6)  10.  𝑚 =  0, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (4, −7) 

 
 

𝑦 = −
1

4
𝑥 + 6             𝑥 + 4𝑦 = 24            𝑦 = −7 

 
 

11.   𝑚 =  
2

3
, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (12, 11)  12.   𝑚 = 𝑢𝑛𝑑𝑒𝑓𝑖𝑛𝑒𝑑, 𝑎𝑛𝑑 𝑝𝑎𝑠𝑠𝑒𝑠 𝑡ℎ𝑟𝑢 (−21, 8) 

 

𝑦 =
2

3
𝑥 + 3             2𝑥 − 3𝑦 = −9            𝑥 = −21 

 
 



 

 

Write an equation in A) point slope,  B) slope-intercept AND C) standard form using the 
given information.  DIFFICULT 
 

12.     (4 , 2)  𝑎𝑛𝑑  (0 , 1)    13.   (8 , 3)  𝑎𝑛𝑑  (2 , 0)  
 

     𝐴)   𝑦 − 2 =
1

4
(𝑥 − 4)    𝑜𝑟    𝑦 − 1 =

1

4
(𝑥 − 0)   𝐴)   𝑦 − 3 =

1

2
(𝑥 − 8)    𝑜𝑟    𝑦 − 0 =

1

2
(𝑥 − 2)     

  𝐵)   𝑥 − 4𝑦 = −4            B)   𝑥 − 2𝑦 = 2 

       𝐶)   𝑦 =
1

4
𝑥 + 1            𝐶)   𝑦 =

1

2
𝑥 − 1 

 
 
 
 
15.   (8 , 1)  𝑎𝑛𝑑  (−4 , 1)    16.     (0 , −1)  𝑎𝑛𝑑  (3  , −5) 
 

 𝐴)   𝑦 = 1           𝐴)   𝑦 + 1 = −
4

3
(𝑥 − 0)    𝑜𝑟    𝑦 + 5 = −

4

3
(𝑥 − 3) 

 𝐵)   𝑦 = 1        𝐵)   4𝑥 + 3𝑦 = −3 

 𝐶)   𝑦 = 1        𝐶)   𝑦 = −
4

3
𝑥 − 1 

 
 
 
 
 
17.     (−1 , 3)  𝑎𝑛𝑑  (2 , 6)    18.    (−4 , 2)  𝑎𝑛𝑑  (2 , 1) 
 

 𝐴)   𝑦 − 3 = 1(𝑥 + 1)    𝑜𝑟    𝑦 − 6 = 1(𝑥 − 2)           𝐴)   𝑦 − 2 = −
1

6
(𝑥 + 4)    𝑜𝑟    𝑦 − 1 = −

1

6
(𝑥 − 2)     

  𝐵)    𝑥 − 𝑦 = 4            𝐵)   𝑥 + 6𝑦 = 8 

       𝐶)    𝑦 = 𝑥 − 4            𝐶)   𝑦 = −
1

6
𝑥 + 1

1

3
 

 
 
 
 
19.   (3 , 1)  𝑎𝑛𝑑  (−6 , 4)    20.   (−7 , 12)  𝑎𝑛𝑑  (−7 , −15) 
 

𝐴)   𝑦 − 1 = −
1

3
(𝑥 − 3)    𝑜𝑟    𝑦 − 4 = −

1

3
(𝑥 + 6)        𝐴)   𝑥 = −7 

              𝐵)   𝑥 +  3𝑦 = 6           𝐵)   𝑥 = −7 

              𝐶)    𝑦 = −
1

3
𝑥 + 2              𝐶)   𝑥 = −7 


